## 2010 Mississippi QSO Party

For once Mississippi had good weather for the last weekend in February. No snow, ice, thunderstorms, flooding, or tornadoes. What more can you ask for. A check of the logs shows that 114 Mississippi Stations were on the air in 66 counties. Special thanks to the mobiles and portables who put many counties on the air that otherwise that would not been available. A pat on the back for W3DYA/M. K4ZGB/M. NO5W/M, N5CW/M, W5GWD/P, and AA0KW/P. These stations collectively made 1,948 QSOs in 50 Counties! Thanks Men. Among the mobiles W3DYA made the most QSOs with 603 and NO5W operated from the most counties with 18.

For the first time in the eight years of the Mississippi QSO Party we have plaques. This year's winners are:

> High Mississippi Score – AG5Z High Out of State Score - N6MU High Mobile Score - W3DYA High Portable Score – W5GWD

Thanks to K2FF, W5UE, the Hattiesburg ARC, and the Jackson ARC for sponsoring the plaques and congratulations to the winners! One error of note. In an earlier preliminary release of information on the plaque winners, AD5WI was listed as the High Out of State Winner. As the results were typed up it was discovered that one of N6MU's log pages had gotten attached to another log, thus loosing credit for 29 QSOs and 9 new counties. That made a difference in the scores! Sorry about that. That's a good reason that logs need to be checked through several times.

Results are bring sent out by email (save that postage) and those eligible for plaques and certificates will receive them somewhat later by snail mail. See you during the 2011 QSO Party!

In State Results

255

2,232

36,855

1,107

285

Best 73 de W5XX

Adams

Alcorn

Amite

Carroll

Forrest

Franklin

George

NO5W/M

NO5W/M

W4HOZ

N5CW/M

NO5W/M

## 39 23 897 NO5W/M K4ZGB/M 41 26 1,066 56 NO5W/M 26 1.456 Calhoun 20 520 AA0KW/5 26 W3DYA/M 42 28 1,176 Chickasaw K4ZGB/M 55 23 1.265 25 Choctaw W3DYA/M 41 1,025 DeSoto 92 47 4,324 W5KDM 73 N5CW/M 34 2,482

17

72

41

19

405

15

31

91

27

15

Greene	N5CW/M	38	22	836
Hancock	NO5W/M	11	7	77
Harrison	NA5DX	205	56	11,480
	WQ5L	135	48	6,480
	W5SGL	23	17	1,391
	NO5W/M	23	16	368
	KF5CST	18	15	270
Hinds	NI5F	144	48	6,912
Tillus	KE5KTU	62	40 29	1,798
	NW5R	28	29 26	728
	W3DYA/M	28 33	20	693
Holmes	W3D1A/M W3DYA/M	33 38	21	1,064
Itawamba	K5TV	154	28 59	1,004 9,086
Itawaiii0a	KJTV K4ZGB/M	74	35	2,590
Jackson	K4ZOD/M K2FF	150		
Jackson			52	7,800
	K7ZYV	98 25	48	4,704
T CC	NO5W/M	25	20	500
Jefferson	NO5W/M	31	23	713
Jones	N5CW/M	20	15	300
Kemper	W3DYA/M	25	18	450
Lafayette	W5UMS	121	54	6,534
Lamar	AG5Z	803	116	93,148
	NO5W/M	18	15	270
	N5CW/M	15	10	150
Lauderdale	W3DYA/M	33	21	693
Lee	K4ZGB/M	55	31	1,705
Lincoln	K5DWI	295	75	22,125
	WB5ASP	199	57	11,343
	NO5W/M	34	23	782
Lowndes	KC5ULN	61	34	2,074
	W3DYA/M	46	24	1,104
Madison	W3DYA/M	42	24	1,008
Marion	NO5W/M	27	18	486
Monroe	AE5BR	235	71	16,685
	K4ZGB/M	29	18	522
Montgomery	W3DYA/M	32	21	672
Newton	W3TWD	71	42	2,982
	W3DYA/M	22	16	352
Noxubee	W3DYA/M	41	25	1,025
Oktibbeha	W3DYA/M	39	28	1,092
	N5EJK	23	13	299
Pearl River	NO5W/M	5	4	20
Perry	N5CW/M	24	22	528
reny	NO5W/M	11	7	77
Pike	NO5W/M	42	25	1,050
Pontotoc	K4ZGB/M	39	23	897
Prentiss	K4ZGB/M	39 32	23 19	608
Rankin	W3DYA/M	32 35	23	
				805 234
Scott	W3DYA/M	18	13	234

Stone	NO5W/M	10	8	80
Tippah	K4ZGB/M	32	26	832
Tishomingo	K4ZGB/M	53	32	1,696
Tunica	W5GWD	128	61	7,808
Union	K4ZGB/M	40	24	960
Walthall	NO5W/M	21	15	315
Warren	W5XX**	680	138	93,840
Washington	K5FA	109	49	5,341
Wayne	N5CW/M	76	36	2,736
Webster	W3DYA/M	50	31	1,550
Wilkinson	NO5W/M	24	20	480
Yazoo	W3DYA/M	24	15	360

\*\* Log Checker; not eligible for plaque or certificate

## **Out of State Results**

NH	W1END	24	23	552
RI	WIEND WIKDA	24 21	23 14	294
KI				
NT	K1SD	4	4	16
NJ	W2CVW	40	22	880
PA	KB3IPZ	6	5	30
FL	W5JBV	48	25	1,200
GA	K4BAI	50	35	1,750
TN	K4AMC	37	32	1,184
VA	K4YT	67	35	2,345
	W4ZPR	6	6	36
	W4JHU	5	4	20
AR	AD5WI	79	50	3,950
LA	WA5TRX	35	25	875
OK	AA5JG	28	20	560
TX	W5ESE	68	39	2,652
	K5ME	15	13	195
CA	N6MU	109	43	4,687
	W7GKF/6	42	24	1,008
AZ	KS5A	46	30	1,380
	W7KAM	10	9	90
WA	AB7RW	53	36	1,908
MI	WB8WKQ	65	34	2,210
	W8UMP	25	15	375
OH	AE8M	39	27	1,053
	W8KNO	6	5	30
IN	WB9CIF	44	31	1,364
WI	K9BTQ	55	30	1,650
MN	W0JAR	15	12	180
MO	WONFS	11	11	121
ND	NOJE	10	9	90
			-	20

CU2	CU2JT	13	13	156
DL	DL3GA	17	12	204
OK	OK1KT	19	14	266
SP	SP5SA	13	11	143
VE3	VA3XOV	35	29	1,015
	VE3PYJ	13	12	156

Check logs: K5GMA, SM6Z, W8CAG